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THREE YEAR B.Com. General/ B.Com. Computer Applications (CBCS) DEGREL
EXAMINATION, JANUARY/FEBRUARY 2023.

THIRD SEMESTER
Course II: BUSINESS STATISTICS
(R:gular)
Time : 3 Hours Max. Marks : 75
SECTION - A
VES - D

Answer any FIVE of the following questions.
&0 (308 (3% oS’ IID 28038 SIrEIWS0E.

(Marks : 5 x b marks = 25 marks)

1. Classification.

:)§§5ea.

2. Primary data.

[DeEDOE SeroBo.

~ BBoT0%E DBOB0.
4. ode.
2IPTROTEL.

5. What is Range? Explain its limitations.

TR GRTRD? T S*rer0 958050,

6. Coefficient of variance is 5, SKp=0.5, SD (c¢)=2. Then find mean.

IR (IR yB) Heato 5, SKp=0.5, |50 B0 (0)=2 B0 VOEIEFI0 SRR,

7. efine skewness.
\,./D .
RPHIBR DEFDOWIR.
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PELC




[xplaim about Kurtosis.
K¢ ¢2000 HHB0MA.

9. Define correlation and types of correlation.

5020655 ©0E) DESD0RIN HIBAK T E57OR) BRIYD.

10. Explain correlation ratio.
RDIH02006) DB HHB80)200.
SECTION - B
ES - D

Answer any FIVE of the following questions.

5o 808 (S IDD pB0oe3 DT ETDIDIOG.
(Marks : 5 x 10 marks = 50 marks)

11. Explain different methods of secondary data with merits and demerits.

| g SEroRantd E3MIR0D BeD HB0 o7 HEHNeR HIBoDIR.

12.  What is the difference between questionnaire and schedule?

5T508 TR sy BB 2HBoBIH.

13. cfine arithmetic mean and state its properties. Also write its merits and demenrits.
0EEHIT) DYFI0D TR GTRORD DERB0. w0 By, Dofgres 28w HOEETORN K060
287);7050.

14. Find median from the following data.
Bo64A9)S BTP080 K006 DBV BE,0508.
Marks: 10-20 20-30 30-40 40-50 50-60 60-70
(25°80),@0)
f: . 30 . 27 20 17 11 6

15. Compute coefficient of quartile deviation for the following data.
808 anyd SEmosindt BEITOF DI HRSR BY,0B06.
CI: 0-5 5-10 10-15 15-20 20-25 25-30 30-35
(HEK 20HSD0)

f: 4 8 10 18 11

]
o

2 ) (3202BUS20)



/,,, ’

19.

20.

16 Calculate standard deviation for the following data.

~1

(508 STPoFANHE (DRITRE JVOTY @gbOé’o&-
Marks :  0-10 10-20 20-30 30-40 40-50 50-60 60-70
(D&, e0)

-]

f: 10 20 27 35 22 16

Calculate Karl Pearson's coefficient of skewness for the following data.
(808 Seroso Bood 578 JaLYyS Doy et B 008,
xi 10-20 20-30 30-40 40-50 50-60 60-70 70-80
f: 4 16 35 50 41 32 20
Calculate Bowley's co-efficient of skewness for the following data.
808 Se03R0BL '8 Pug DR BEY,0D0d.

x: 100 110 120 130 140 150 160 170 180
ff 10 18 25 40 55 28 20 16 S

Calculate Rank correlation co-efficient for the following data.
808 sSzroso od §°%3 $TPdowos KresR) B oNod.

xr 588 43 50 19 26 27 T4 34 2

o
(o]
-1

Yy 23 24 34 16 25 14 30 39 17 29

Calculate co-efficient of correlation of the following data.

(808 BSTORHNHL BIBow0ds K0S 83,0508,

x 23 27 28 29 30 31 33 35 36 39
y: 18 22 23 24 25 26 29 30 32 34




